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QUESTION 1

What is the primary extension construct of a profile?
A. a stereotype

B. a constraint

C. a tag definition

D. a metaclass

Correct Answer: A

QUESTION 2

What does a run-to-completion processing for state machines mean?

A. No other event will be processes until the current event us fully processed.

B. The thread executing the state machine cannot be pre-empted by the scheduler.
C. The executions of orthogonal regions are serialized.

D. Interrupts are disabled while the state machine is running.

Correct Answer: A

QUESTION 3
What must be true for a connector to be well formed if a delegation connector delegates to more than one target port?
A. The interfaces of the target ports must have no features in common.

B. The interface of at least one of the target ports must be signature compatible with the interface that is the type of the
source port.

C. The interface of each of the target ports must be signature compatible with the interface that is the type of the source
port.

D. The union of the interfaces of the target ports must be signature compatible with the interface that is the type of the
source port.

Correct Answer: D

QUESTION 4

What does the composite structure notation in the exhibit show?
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A. p is a port on a part of C, which is not shown.
B. p is a behavior port of C.

C. pis a hidden port of C.

D. p is a port providing a system service.

Correct Answer: C

QUESTION 5

What might a connector specify?
A. dependencies

B. classes

C. associations

D. messages

E. links

Correct Answer: E
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